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(a) log 13
log 13 = 1.1
(b) log (3.1 x 10%)
log (3.1 x 10*) = log 3.1 + log 10"
=10g 3.1 +4log 10 ~ 0.491 + 4 ~ 4.5
(c)In 0.25

In0.25=-14
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(a) log,; 51
log; 51 =log 51log 3 = 3.58
(b) log,, 13
log,, 13 =1log 13log 12 = -3.70
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(@7 =9

x =1og, 9 =log 9log 7 = 1.1292
(b) 2e™ = 64

e =32

5x = In 32

x =151n 32 = 0.6931
(C) 72 = 24

log 7" =log 2"

(2x +1)log 7 = (x-4) log 2

2xlog 7 +1log 7 =xlog 2 - 4 log 2

2xlog 7 -xlog 2 =-log 7 - 4 log 2

x(2 log 7 -1log 2) = -log 7 - 4 log 2

x=-log7-4log22log7-log?2=-1.4751
(d)4"+2"°-12=0

(29°+2"-12=0

uU+u-12=0

(u+4)u-3)=0

u=-4 or u=3

2’=-4 oru=2"=3

X piall @8 JSJ 2X > 0 Y 1> Lo pud 2 tabslsallx = -4
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2"=3- x=1log,3 =1log 3log 2 = 1.5850
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9 =6.5(1.014)
96.5 = (1.014)'

In 96.5 =1In(1.014)' > In9-1n6.5=1t1In 1.014
t=In9-1n6.5ln1.014 = 23
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